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When y =0, it cuts at 2 points on the curve. Therefore it is not a one to one function.
Thus, fdoes not exist.
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4 (i) | Let n be the number of years after 2013.
Tom’s pay =30000 +(n —1) (1500)
Jerry’s pay = 25000(1.05)“_l
30000 +(n—1)(1500) < 25000(1.05)""
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From the table, n=17.
Hence the first year in which Jerry’s pay is higher than Tom’s is 2029.
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From the table, n=26.
Hence the first year in which Jerry’s pay is higher than Tom’s is 2038.
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Let P(n) be the statement u, = g forall n>0.
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LHS =RHS .. P(0) is true.
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Assume that P(k) is true for some k>0, i.e., u, =
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Since P(0) is true and P(K) is true = P(k+1) is true, by the Principle of Mathematical

Induction, we conclude that P(0), P(1), P(2), P(3), ... are all true. Hence P(n) is true for
all integersn>0.
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For A=0 is the x-axis.




13 | Common ratio r = tan@. For S, to exist, |r| <1, i.e.
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